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$$ dpli]= \begin{cases} &\text{sum}[i]&i\le k\\ &\max\{dp[j-1]+\text{sum}[i]-\text{sum}[j]\} &i-k \le
e i,i>k \end{cases} $$
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#include <stdio.h>
#include <iostream>
using namespace std;
int n,k;

long long e ;
long long dp ;
long long sum ;
int q ;

int front=0,tail=1;
long long a(int now

dp/now-1]-sum/ now!;
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int main
scanf("%d %d",&n,&k) ;
int rec=0;
int i=1;i<=n;i++
scanf("slld",&e[i]);
sum[il=sum[i-1]+e[i];
int i=1;i<=n;i++
front<=tail&&q| front <i-k
front++;
dplil=alql[front])+sum[i];
front<=tail&&a(ql/taill )<=a(i
tail--;
g ++taill=1i;
long long ans=0;
int i=1;i<=n;i++
ans=max(ans,dp/i]);
printf("slld",ans);
'
g
0 0 p3957
From:

https://wiki.cvbbacm.com/ - CVBB ACM Team

Permanent link:

Last update: 2020/05/31 21:22

https://wiki.cvbbacm.com/

Printed on 2025/08/23 19:14


https://www.luogu.com.cn/problem/solution/P3957
https://www.luogu.com.cn/problem/solution/P3957
https://wiki.cvbbacm.com/
https://wiki.cvbbacm.com/doku.php?id=2020-2021:teams:legal_string:dp%E7%9A%84%E4%BC%98%E5%8C%96&rev=1590931340

	dp的优化
	一、单调队列优化
	一道例题
	练习



